LO: To solve number problems using BODMAS.

Activity: Work out these problems in your home maths books.

There is an easy way to remember this: BODMAS

Brackets

Of Any sum in brackets is

Division E‘i"ﬁl{'ate'f‘ f{‘{st- e
L ivision and multiplication are

Mu“_'phcatmn calculated before addition and

Addition subtraction.

Subtraction

Try these to get the idea!

{Nmt as hard as | thought!

1. 6+ 4 x2 = | can have a break now!
2. 4+ 4+:2 =
3. 8+6-3-=
4. 5+5 x 4 =
5. 12+3 x 2 =

6. 2x4+5 =



1. 100 - (20 x3) = 9. (5x7)-(2x5)=
2. (35-15)+(27-7) = 10. 56— (4x7)=
3. 15+ (6 x 6) = 11. 78—-(10x7)=
4. (4+5)x(3+6)= 12. (7x7)+(4x8)=
5. (5+5)x(5-2)= 13. (45-23)+(5x8)=
6. 50— (6 x6) = 14. 38-(5x7)=
7. (4+8)x(3-2)= 15. (100-45)+ (7 x7) =
8.(9-3)+(6x6)= 16. 45-(9x4)=
Section C - Calculations
What is the value of ;
1. (4x2)+(3x3)= 2. (4x4)+(5x5)=
3. (6Xx6)—(4x4)= 4.(9%x9)—(8x8)=
5. 18—(4x2)= 6.4x(4-2)=
7. 18-(9x4)+32= 8.(12x12)—=(11x12)=
9. 30-(5x4)= 10.67-(9%x5) =
11. (8+6)x4= 12.8x7-3=
13. (4x9)—(4x8)= 14.56 - (5x9)=

15. 72-(8x7)+9= 16.(9x8)+ (9x8)=



Remember BODMAS shows you the order in which operations
should be carried out.

Write the following sums out without changing the order of the
numbers. To make the sums correct put in the brackets if
necessary to show which part has to be completed first.

8+4 x 6 -5 = 27
8+4 x 6 -5 = 12
8+4x 6 -5 = 67

Remember to check your answers using the BODMAS rule.

Put in the signs and/or brackets to make the following true:

1. 4 4 3 = 16 6. 4 6 4 = 20
2. 7 6 11 = 12 7. 10 3 5 = 35
3 2 2 4 = 8 8. 2 4 6 = 1

4. 2 2 4 = 16 9. 24 2 4 = 8
5. 4 3 3 = 13 10. 5 4 4 = 21

Remember to check your answers using the BODMAS rule.

Good Luck,
Miss Mills



